

## Section 3.2

Product Rule

$$\frac{d}{dx} [f(x)g(x)] = f(x)g'(x) + f'(x)g(x)$$

EX       $f(x) = (2x^2 - 1)(x^3 + 3)$

$$f'(x) = \frac{d}{dx} \left[ \underset{\substack{\uparrow \\ p(x)}}{(2x^2 - 1)} \underset{\substack{\uparrow \\ q(x)}}{(x^3 + 3)} \right] = p(x)q'(x) + p'(x)q(x)$$

$$= (2x^2 - 1)(3x^2) + (4x)(x^3 + 3)$$

$$= 6x^4 - 3x^2 + 4x^4 + 12x$$

$$= 10x^4 - 3x^2 + 12x$$

EX       $f(x) = x^3(\sqrt{x} + 1)$

$$f'(x) = x^3 \frac{d}{dx} [\sqrt{x} + 1] + \frac{d}{dx} [x^3] (\sqrt{x} + 1)$$

$$= x^3 \left( \frac{1}{2} x^{-1/2} \right) + 3x^2 (\sqrt{x} + 1)$$

$$= \frac{1}{2} x^{5/2} + 3x^{5/2} + 3x^2$$

$$= \frac{7}{2} x^{5/2} + 3x^2$$

# Quotient Rule

$$\frac{d}{dx} \left[ \frac{f(x)}{g(x)} \right] = \frac{g(x) f'(x) - f(x) g'(x)}{[g(x)]^2} \quad \text{provided } g(x) \neq 0$$

EX       $f(x) = \frac{x \leftarrow q(x)}{2x-4 \leftarrow p(x)}$

$$f'(x) = \frac{p(x) q'(x) - q(x) p'(x)}{[p(x)]^2}$$

$$= \frac{(2x-4) \frac{d}{dx}[x] - x \frac{d}{dx}[2x-4]}{[2x-4]^2}$$

$$= \frac{2x-4 - 2x}{4x^2-16x+16}$$

$$= \frac{-4}{4x^2-16x+16} \quad \text{or} \quad \frac{-4}{(2x-4)^2}$$

EX)       $f(x) = \frac{x^2+1}{x^2-1}$

$$f'(x) = \frac{(x^2-1) \frac{d}{dx}[x^2+1] - (x^2+1) \frac{d}{dx}[x^2-1]}{(x^2-1)^2}$$

$$= \frac{(x^2-1)(2x) - (x^2+1)(2x)}{(x^2-1)^2}$$

$$= \frac{2x^3-2x-2x^3-2x}{(x^2-1)^2}$$

$$= \frac{-4x}{(x^2-1)^2}$$

P175  
APPLIED  
EX  
#7